


Set No. 1 18P/207/21

total No. of Printed Pages : 48 Question BookletNo............ ...

ol

{To be filled up by the candidate by blue/black ball-point pen)

M.

dab No. riWnte thedigits inwords) ..o (}' 3)8 . \‘; .......................................................

eral Moo of OMRE Answer Sheet o, o ssanres vans -

critre Code No.

THS

And [Ate . (Signature of Invigilator|

Lo -

10.

11

12.

13.
14.

Within 30 minutes of the i
t contains all the pages1
Ouestion Booklet bring |
iresh (Question Booklet

Booklet Number, Cenfye Code Number anll the Set Number (wherever gbplicable) in appropriate

places.
No overwriting 1s allowel

OME Answer Sheet and &
Any change in the aforesaid
unfair means.

lLach guestion in this Booklet is I3 red l::n. four alterng#®e answers. For each gquestion, you are to
record the correct option on the OMKR e aot" by darkening the appropriate circle in the
-urresponding row of the OMR Answer Sheet, by ball-point pen as mentioned in the guidelines given
on the first page of the OMR Answer Sheet.

For each question, darken only one circle on the OMR Answer Sheet. If you darken more than one
circle or darken a circle partially, the answer will be treated as incorrect.

Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a question,
leave all the circles in the corresponding row blank (such guestion will be awarded zero mark].
For rough work, use the inner back page of the title cover and the blank page at the end of this
Booklet.

On completion of the Test, the Candidate must handover the OMR Answer Sheet to the Invigilator
11 the examination room/ hall, However, candidates are allowed to take away Text Beoklet and copy
af OME Answer Sheet with them.

Candwiates are not permitted to leave the Examination Hall until the end of the Test.

if a candidate attempts to use any form of unfair means, he/she shall be liable to such purushment

as the University may determine and impose on him/her.

in the entries of Roll No., Question Booklegf No. and Set No. (if any) on
o Roll No. and OMRE Answer Sheet Serigf No, on the Question Booklet,

ntries is to be verified by the Invigi#ltor, otherwise it will be taken as

¥ Taw e 0 osafem smam-e w B o g



SPACE FOR ROUGH WORK
T wE & fau wE



18P/207/21 Set No. 1
No. of Questinnsimﬁﬁﬁw : 120
Time,/999 : 2 Hoursfﬂ“ﬁ Full Ma.rksﬂﬂrﬁﬂi: 360

Note : (1) Attempt as many questions as you can. Each question carries 3 marks.
One mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question.

HUFITF A F T FA H WA B TAF T 3 3 F 2 TAF
T I F fU s ofF FRT S| yE A We 1 OWHE A
Huldl

(2) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

afz e dFfcod IW A IW F fipe Wi @, @ Feemw md sm
c

1. Where are coral reefs mostly found?
(1) Tropical region (2) Polar region
(3) Temperate region (4) Equatorial region

(88) 1 (P.T.O.)
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(88)

e i T w o €2

(1) IwEFRERE o (2) @ wa3
(3) wEfiden WEH (4) e o

Formation of Mid-Atlantic Ridge is a typical example of the process of
{A) Convergence (B) Divergence

(C) Shear (D) Sea-floor spreading

Select the correct answer from the codes given below :

Code :

(1) (A) and (B) (2) (B) and (C) (3) (B) and (D) (4] (A) and (C)
He1-aeifeF Few & twmin f yhEa fafie sewwr @

(A) st (frem) =i (B) ferarer =

(C) FTH HI (D) BYA a1 & fran &
9 e m e | ' W g

77 :

(1) (A) @91 (B) (2) (B) @t (C) (3) (B) 941 (D) (4) (A) 91 (C)
Which one of the f-llowing climate types results due to seasonal shifting of the
planetary pressure and wind belts?

(1) Mediterranean (2) Equatorial

(3) West European (4) Hot Desert



(88)
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ﬁ%ﬁﬁmmﬁﬁmmﬁﬁmwﬁmﬁﬁﬁim
TIT % FRO T 27

(1) HeIETTE (2) fogaeia
(3) wfresft gard (4) IN7 HEReRR

Where are the Zulus found?

(1) Australia (2) South Africa (3) Zambia (4) Uganda
I FT T IR F?
(1) sregforn (2) ofaw swflE  (3) i @) TmUE

Which one of the following is a tropical grassland?

(1) Veldt (2) Steppes (3) Prarie (4) Llanos
frafafigg & 9 #9 & IERdEE E fem 27
(1) deg (2) w=dT (3) = (4) @

The geosynclinal theory of mountain building was propounded by whom?

(1) Daly (2} Holmes (3) Kober (4) Suess
qda fmtn 1 yeafy fagma s g sfonfe gan?
(1) h (2) B (3) wre (4) =9

3 (P.T.O.)
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7. Which one of the following is the wind produced geomorphic feature?

10.

(88)

(1) Rias (2) Hamada (3) Drumlins (4) Sinkhole
frafafigd # @ A9 TgAtE Y-3TFH T 27
(1) Fams (2) wATEl (3) g (4) =Ty

Quartzite is formed by the metamorphosis of which of the following?

(1) Sandstone (2} Marble (3) Granite (4} Hematite
frafafiae § fFa & 9o ¥ ®RAEE T 87
(1) T[T & (2) T F (3) U9 (4) BIRTER F

Which one of the following is the landform of Karst Region?

(1) Ramp Valley (2] Zeugen (3] Arete (4) Blind Valley
frafafgs § @ 19 F gew A wEE 27
(1) T = (2) ¥ (3) & hF (4) ¥ B

Which one of the following is associated with two parallel faults?

(1} Strike Valley (2) Hogback

(3) Graben (4) Anticlinorium

Fafaflgs 4 @ 19 € G9EwR Y9 8 gmied 27

(1) o= o1& (2) 'TEE (3) T (4) TIYETE
4
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Study the following statements and select the correct answer from the given
codes

(i) There is gradual increase in the velocity of the seismic waves at the base of
lower crust.

(i) The average density of the rocks of lower crust is greater than that of the
upper crustal rocks.

(1i1) The outer core of the Earth is in molten form.

(iv) The mantle core boundary is determined by the Moho-discontinuity,
Code :

(1) (i) and (iii) are correct (2) (i) and (ii) are correct

(3) (iii) and (iv) are correct (4) (i) and (iii) are correct

fe st 1 e e @ @ g @ ad swm g

) st g % g e i T R A A

(i) a4: qyE F A< F fEd T I g A @ o @ R

(iii) gealt 1 aTE AL el R H R

(iv) 9ot ¥ WAR s % wea A dim w1 Fetor dr-swae ga g R

Fc .
(1) (ii) wd (iii) @& 2 (2) () w3 (ii) =& &
(3) (iii) & (iv) ¥ B (4) () ©@ (iii) =& B

5 (P.T.O.)
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12.

13.

14.

15.

(88)

Which one of the following planets is known as ‘ringed planet™
(1) Neptune (2) Pluto (3) Uranus (4) Saturn
freffa 78t # BRd ‘aem we ¥ AW R ST S 27

(1) &7 (2) 74 (3) I&° (4) ==

What does create ‘Nunatak™

(1) River (2) Wind

(3) Underground water (4} Glacier

‘Tmrew fEma a g 27

(1) T8I (2) - qeH (3) qfHTE S (4) fewg

‘Thermosphere’ lies between which of the following?

(1) Troposphere and Stratosphere (2) Mesosphere and Ozonosphere
(3) Stratosphere and Mesosphere {(4) Ozonosphere and lonosphere
frefofas & o & 7ea 4 ‘avmvee foym 27

(1) A9IHUSH Ud HEATIHUSH (2) FANVEA Ud ISEUES

(3) HEAIHUEH U HEAHUEH (4) STSTHUSH TE TS
Which one of the following is known as ‘thunder cloud’?

(1} Cirro-cumulus cloud (2) Cirro-stratus cloud

(3) Cumulo-nimbus cloud (4) Strato-cumulus cloud



16.

17.

18.
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frafafea & @ R ol 4’ =1 27

(1) vem-Furft see (2) TE-TT0 aTed
@) Frf-at aew (4) T-FEh aeE

The Inter-Tropical Convergence Zone during the South-West monsoon season ir
India shifts towards the

(1) North (2) East (3) South (4) West
i 8 gfefi-afvadt oift g @ sru-sweRendn sfm 39 fegs w2
(1) A it (2 TR AR (3 P A AR (4) wEmm o

Which air pressure belt is called ‘Horse Latitude’?
(1) Polar high belts (2) Equatorial low belts

(3) Sub-polar low belts (4) Subtropical high belts
F-dh e ¥ ‘o v’ s 37

(1) g =9 gfe (2) forgeita fer dfeat

(3) -y fm ufeat (4) 39w 3= efeai

Who among the following introduced the ‘principle of activity’ in Humal
Geography?
(1) F. Ratzel (2) J. Brunhes

(3) Vidal de la Blache (4) R. Hartshorne

7 (P.T.O



18P/207/21 Set No. 1

19,

20.

21.

(88

frafafaa § | fFee ome opite § ‘Granfee = fagra wefaq fFan?
(1) Tho g (2) So W

(3) aTEEt & o sAW (4) o FREWH

Toda tribe in India is mainly found in which State?

(1) Uttarakhand (2) Jharkhand  (3) Tamil Nadu (4] Rajasthan
Irer sefd geua: und & o usg | ol SRl 22

(1) IwrEE @) wEvE 3) A )

Which one of the following is not correctly matched?

(1) Congo Basin—Negrito (2) Scandinavia—Nordic

(3) Siberia—Alpine (4) Kalahari—Bantu Negros
frefafas % & =9 gafea a8 27

(1) &t SfF—fie (2) whfErfa—aifds

(3) HrEsHE—reaTE (4) FremET—aTg,

The concept of Genre de vie (‘distinctive way of life’) was propounded by
(1) E. Reclues (2] Vidal de la Blache

(3) Jean Brunhes (4) Patrick Geddes

%ﬂﬁ@f{‘%ﬁmsﬁmmﬁ’}ﬁﬁwmﬁﬁnﬁaﬁ
(1) 3o 9oy gRI (2) 9336 2 & el ghl
(3) S 53 gm (4) ¥z= fafgm g
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22. Who among the following formulated Concentric Zone Theory of internal

23.

24.

(88

structure of urban centres?
(1) E. Burgess (2) H. Hoyt (3) E. Ullman {4) C. Harris

ﬁmﬁfﬁhnﬁﬁﬁsﬂﬁwﬂﬂéﬁﬁﬁwﬁﬁmﬁﬂ%ﬁﬁ{ﬁ)ﬁq@a
wfaarfea famam?

(1) 3o afifg (2) THo BEM (3) 3o ITEM (4) o g

Which one of the following are cold currents? Select the correct answer from the
codes given :

(a) Brazil Current (b) Humboldt Current
(c) Oyashio Current (d) Kuroshio Current
Codes :

(1) {a) and (b) ~ (2) (a) and (d)  (3) (b) and (c)  (4) (b) and (d)

fFrfofea # @ ®4 3& ard 37 fou ™ g2 @ @l aw g .

BEECE Y (b) BT Gwy

(c) ¥ am (d) FEfEE am

F

(1} (a) dUT (b (2) (a} ToT (d) (3) (b) Tl (¢) (4) (b) @l (d)

Which one of the following are coral islands?

(1) Bermuda (2) Andamans (3) Mauritius (4) Nicobars

g (P.T.O.)
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Prfofaa 3 @ #1 wF w2 37

(1) FE! (2) T (3) mfwm (4) Hiwrm
25. Agricultural land belongs to which one of the following resource category?
(1) Ubiquities (2) Commonalities
(3) Rarities (4) Uniguitics
i oy FrefeRan wae A § 3 frd w22
(1) HEGT FIR (2) W FEW Fife
(3) fra #ife (4) THA
26. What do ‘Furious Fifties’ refer to?
(1) Polar wind (2) Monsoon wind
(3) Trade wind (4) Westerhes

‘T waEr B8 gFd # R Y
(1) Y& geH (2) AFEA 9 (3) = YE  (4) TFAT T

27. In Weber's theory, the location of industry is basically guided by

(1) Government Policy (2) Economies of Scale

(3) Transportation Cost (4) Labour Cost

Im & fugm #, sOm & s waa: faba e g

(1) = Afifd g (2) ufemr et e g
(3) uiEes @A g (4) W @™ A

(88} 10
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28. Match List-1 with List-Il and select the correct answer from the given codes :

List-I (City) List-II (Industry)
(A) Osaka (i} Ship building
(B} Hamburg (if) Textiles
(C) Detroit (iii) Iron and Steel
(D) Pittsburgh (iv] Automobiles
Codes :
(A) (B) (C) (D) (A) (B) (C) (D)

(1) (i) (1) (iv) (i) (2) (i) (ii) (i) (iv)
3 @) @ @ () 4 @) 6 v (i)
-1 &t g1 | gafoa i qar e m F2 & 7@ W giie .

g1 (TR) g (3aim)
(A) e () @ fi
(B) Bwai (i) =@ fmfor
(C) SRR (iif) Te-FeTa
(D) fozant (iv) HreT-mfat
E G
a) B (© (D @ ® © (D

1y @ @ (iv) (i) 2) ) @) () (iv)
@ @ (@) Q) (iv) 4) (@) @ (iv) (i)

e

29, Who is the author of The Nature of Geography ?
(1} H. H. Barrows (2) R. J. Chorley
(3) Carl Sauer (4) R. Hartshorne

(88) 11 (P.T.O.)
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fo Fe HH SE F FGH B o7
(1) Tho The AT (2) Mo Sto ¥l
(3) e T (4) ARo TR

30. Who propounded the theory of agricultural location?

(1) Von Thiinen (2) Weber (3) Philbrick (4) Christaller
F srafeufy & fagra fred wfewfaa feane
(1) A g (2) & (3) Trefas (4) frwier

31. When was the Survey of India set up?
wd of% gfedn i TN Fa gS7
(1) 1792 (2) 1767 (3) 1857 (4) 1947

32. Given below are two statements. One labelled as Assertion (A} and other labelled
as Reason (R). Select the correct answer from the codes given below :

(A) Plantation agriculture is highly developed in South-East Asia.
(R} South-East Asia remained under the European rule for long time.

Codes :

(1) Both (A) and (R} are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A),
(3) (A) is true, (R) is false.

(4) (A) is false, (R) is true.

(88) 12
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A 2 F97 fu ¥ F A (A) @ B wEw (R) ¥ vy A R mn
#1 Frerfefon 32t & @ @l s gh -

(A) gfeof-ga ofirn & et Ff ofiw Rl 2
(R) gfinfi-gff ofirn & wmw 7% g wew § w )

E A

() (A) 3t (R) A0 @ 8 aw (A) 6 9 =rEw (R), R

(2) (A) 3R (R) 3l ¥4 ¥ weg (A) A W =En (R), T L
(3) (A) 9 B, (R) TeId &I

(4) (A) TeE R, (R) HA B

33. Which one of the following is not correctly matched?

Ship-building Centres (USA) State
(1) Houston Texas
(2) Sparrows Point Maryland
(3} New Orleans Louisiana
(4} Camden Florida
Prafafigs & @ #1978 gafra 7@ 27

qiq-Fafr &5 (oTHoto) T
(1) wee AN
(2) HOS @R Al
3) A snferdst efermT
(4) FweH weiftel

88) 13 (P.T.0.)
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34. What does ‘population pyramid’ illustrate?
(1) Temporal growth of population
(2) Spatial distribution of population
(3) Age-sex structure of population

(4) Occupational structure of population

‘Sreen fiufie” w7 fafa = 27

(1) v i whw gt (2) S 1 T F
(3) sEEn N IF-fomn ww (4) SEEET I FAGENIER G

35. Which one of the following rivers is outcome of mainly faulting?

(1) Mahanadi (2) Narmada (3) Cauvery (4) Mahi
firfafga Afeal # 8§ #19 gEga: 9v9 &1 uftom 87
(1) wEF (2) e (3) wE (4) T

36. Which one of the following rock formations is the richest in plant fossils?

(1) Cuddapah (2) Siwalik (3) Vindhyan (4) Gondwana
frafafias fta oqel § #4 wew St § et gom 27
(1) Feo (2) R (3) farema (4) Tgam

37. Who developed the ‘core-periphery model’ of regional development?

(1} Kuklinski (2) Isard (3) Friedman (4) Richardson

(88) 14
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TR R & Fg-uRfy sed’ @ feen fefa R
(1) FeHferh (2) 3msETE (3) $rzia (4) ferdwm

The warm local winds blowing along the Eastern slopes of Rockies are called

(1} Foehn (2) Sirocco (3) Chinook (4) Harmattan
0 v F el W wet et e ™ e 9 e
(1) HIE (2) feu 3) fea (4) TOIA

As per 2017 data, which one of the following developing countries has th
lowest infant mortality rate?

(1) India (2) Sri Lanka (3} Pakistan (4) Afghanistan

2017 & dfFs & AR (=fafad fowmsia oo & @ frmw fing vedar @ fem
27

(1) W& (2) *fterr (3) Wi (4) T

The concept of Sustainable Development is based on which of the following?
(1) Agenda 21 (2) Basic Need Approach

(3) Brundtland Report (4) Human Development Index

waq faw| 6 dwern Fefafes & @ ffg w smarfa 27
(1) wier 21 (2) HeVd ATEvEHAT JITTH
(3) seete fuqd (4) AMa faFE gEFE

15 (P.I.C



18P/207/21 Set No. 1

41.

42,

43.

(88)

Who propounded the Growth Pole Theory?

(1) Boudeville (2) Perroux (3} Myrdal (4) Christaller
gfg ya fagm fraa wiomfea faman?
(1) g (2) WiFm (3) frdw (4) Treeien

Which one of the following is true about Representative Fraction (R¥) ?
(1) Numerator and denominator are in the same unit.

(2) It is an average figure.

(3) Numerator represents ground distance.

{4) Denominator represents distance on map.

wedts R (Fofire) % am # fmfafas & #7 @dt 27

(1) 3 @ W ow @ gd 4 A (2 T AET T R

(3) 3w wwaea g = FEl R (4) & "t WA 7h saw w 2

In the global heat budget, what is the proportion of solar energy absorbed
directly by the atmosphere?

afvas w1 o5 § qgAved g0 YO TeW H 9 At St o s R 20
(1) 44% (2) 64% (3) 20% (4) 6%

In Thornthwaite’s scheme of climatic classification, semi-arid type of humidity
province is indicated by which symbol?

(1) B (2) € (3) E (4) D

16
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arfde i weEry afE A § A TR W o wew feE Rus @ i
g @7

(1} B g (2) C g (3) E gr (4} D gm

Amravati City is located by which one of the following rivers?

(1) Godavari (2) Krishna (3) Cauvery (4) Musi
uedt T fEfafed o @ g @ W R 20
(1) T (2) Fom (3) wrd (4) T

During which of the following periods, the Earth is supposed to have cooled
from a hot gaseous state to molten state?

(1) Quaternary  (2) Triassic (3) Cambrian (4) Pre-Cambrian

frfefan & @ o omfy # 9ol o Aefle oo @ e o omen # o
fi 38 g afe

(1) wrRAd (2) T (3) Hfrr (4) h-Hferm
Which one of the following is associated with exogenetic forces?
(1) River erosion (2) Volcanic activity
(3) Continent forming movement (4) Faulting
frafeias § & $9 a@ sot ° weEfug 27
(1) ¥ A9 (2) SaregEty
(3) werty Fmfo g=em (4) 9IA
17 (P.T.O.)
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48. The following facts are associated with which geographer?
(a) He was a German.
(b} He died in 1859.

(c) He wrote the book Kosmos.

(1) Ritter (2) Ratzel {3) Humboldt {(4) Richthofen
ffafad w2 fea e & wwafea €7
(a) & sH9 9|

(b) 3T g 1859 # I
(c) IR HigHig AwE YwE ford

(1) fz (2) o (3) FHETee (4) fraurss

49, Talcher coalfield lies in

(1) Damodar Valley (2) Mahanadi Valley
(3) Son Valley (4) Godavari Valley
AT wien & e 2

(1) gmree =idt (2) #EE ué A

(3) 9 e | (4) TEEd udt |

50. Cumulative frequency curve is shown by what?
(1) Ogive curve (2) Frequency curve

(3) Histogram (4} Pie diagram

(88) 18
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Mmﬁmmm%?

(1) 90 T (2) IERAT TF
(3) smadfas (4) T¥ ImE

51. Which one of the following States of India does not have maritime boundary?

(1) Kerala (2) West Bengal

(3) Telangana (4) Maharashtra

yra & Pefles o=t d A e and d ol 20

(1) ¥t (2) WRww smE (3} A (4) wErTE

52. Match List-T with List-1I and select the correct answer from the given codes :

List-I (Project) List-1I (River)
(A) Almatti (i Tapi
(B} Idukki (i) Ravi
(C) Ranjit Sagar (iii) Krishna
(D) Ukai (iv) Periyar
Codes :
A) B (€) (D) A) (B (C) (D)
() @) Gv) @) () (20 (v G) () ()

3 ) (i () () 4) G} ) (iv) (i)

(88) 19 (P.T.0.)
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aﬁ—laﬁqﬁﬁ-uﬁq&%aﬁﬁuaanﬁqmﬁzﬂaﬁmgﬁn;

gef-1 (aftarsrn) gefi-1 ()
(A) ¥ (i)
(B) TG (i) el
(C) Trfid &R (iii) Foom
(D) 3 (iv) FPER
P
@A B (© (D (A) (B (©) (D)

(G v (i) () (2) ) @) (uy) (i)
3 (1) (i) (i) 4y ) (iv) (i)

53. Which one of the following has the longest international boundary with India”

(1) China (2) Pakistan (3) Nepal (4) Bangladesh
frafafiag & & e ) wnd & Ty gen @l awiviy wfm R0
(1) (2) it (3) = (4) S

54. The percentage of the Scheduled Tribes is highest in which one of the following
States of India?

(1) Arunachal Pradesh (2) Mizoram

(3) Meghalaya (4} Nagaland

wig # ogfad seenfadl fl wHEn # I=aw wiwh fofafas osat 0 @ e
?7?

(1) *vmae yeu  (2) faamm (3) #arer™ (4) RS

(88) 20



18P/207/21 Set No.

55. Which one of the following ports of India is located on Odisha Coast?

(1) Haldia (2) Mumbai

(3) Paradeep (4) Vishakhapatnam

em%ﬁm%%awﬁﬁﬁﬁq—maﬂ%mmmmﬁmg?

(1) efegan (2) T (3) T (4) Frerramem
56. Which one of the following has the highest elasticity?

(1) Waterways (2) Railways (3) Airways (4) Roadways

Frafofgs & @ fred s=an a<femeT e 27

(1) e (2) e (3) amgav (4) agFl

97. Mark the odd out of the following :

(1) Raniganj (2) Makum (3) Chandrapur (4) Jharia
frfifad 4 & s # fafem o .
(1) T (2) #TFH (3) I%q1 (4) i

58. Which one of the following crops has the largest percentage of irrigated area «
its net sown area in India?

(1) Sugarcane (2) Paddy (3) Wheat (4) Oilseeds

wiE # frefafes wee § @ e sl 3% g wea S0 8w § fifw a9
gfaye watfees 87

(1) T (2) w (3) TE (4) deTed

(88) 21 (P.T.O
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59. The biggest petro-chemical production centre in India is located at which of he

60.

(88)

following places?

{1} Trombay (2) Jamnagar (3) Ankleshwar  (4) Noonmati
wﬁ&ﬁ-mmwmamaﬁﬁn%ﬁaﬁmﬁﬁﬁﬁfmﬁa%?
(1) 7 (2) IR (3) ITFATH (4) T

Given below are two statements. One labelled as Assertion (A) and other labelled
as Reason (R). Select the correct answer from the following codes given :

(A) West Bengal has very high population density.

(R) West Bengal is the main rice producing State of the country.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R} is not the correct explanation of (A).
(3} (A) is true (R) is false.
(4} (A) is false (R} is truc.
= @ Fa 2y mu #| vk W sfiswe (A) SR A FOERW (R) FOFY H T oma
3 fu Mo frefefes &9 § 8 WA I g

(A) ufFem s ¥ SHEE 9 §gd 3 ©

(R) 9fFem el 3w 1 Ig@ 96w INEE 199 2

Fd

(1) (A) 3 (R) g1 @ex % @ (A) F & =@ (R), 2

(2) (A) ¥ (R) 3 T o (A) F @ FTEn (R), TE R
(3) (A) 5= R, (R) TR 2

(4) (A) TR R, (R) € B

22
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Which one of the following Tiger Reserves of India is located in Mizoram?
(1) Buxa (2) Melghat {(3) Bhadra (4) Dampha
aa # Freafafes am worgeh (Red) & @ <9 fiemm # smfem 27

(1) s (2) HerEre (3) 731 (4) T

Which one of the following soil is most suited for tea plantation?

(1) Alkaline (2) Alluvial (3) Acidic (4) Regur
frefofaa @ & F- g 9@ st & foe waifus Juge 27
(1) &mE (2) wAIE (3) At (4) TR

Which one of the following rivers flows across all the three ranges of the
Himalayas?

(1] Sutlej (2) Chenab (3] Jhelum (4) Rawvi
frofafae aftdl 4 @ 9 fonem & = 4R & AR-TR @ 27
(1) Tae (2) Femma (3) ¥ (4) Tt

Which one of the following tribes of India belongs to the proto-Australeid race?

(1) Irula (2) Santhal (3) Khasi (4) Tharu
ara # fafafas § & #9-d sAefe - et 8@ g 27
(1) F&eT (2) @Y (3) @ (4) 9

23 (P.T.0.)
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65.

(88)

Match List-I with List-Il and select the correct answer from the given ¢

List-I (Region|
(A) Karnataka Plateau
(B) Pat Plateau
(C) Malwa Plateau
(D) Northern Circars
Codes :
@4 B (€ (D
(1) v (@) G Q) (2)
@ 6 0 v (i) (4)

odes :
List-II {Soil Type)

() Regur

(i) Red soil

{iil) Laterite soil

(iv) Alluvial soil

(A} (B) (C) (D)
(1) m (i) (iv)
(i @y () (iv)

g1 # g § gafaa A aa e mwowd @ wd s gfc .

gefi-1 (5391)

(A) FATTH TBN

(B) T WBR

(C) TTHET TaR

(D) I8 TFR
F

a4 B (€ (D
(1) v) ) G) () (2)
B ) (iv) (i) (4)

24

-1 (3T )
() T
(i) &fe fad
(iii) eeuse g
(iv) Sefg firgh

A} B € (D
1) M) (i) )
(i) ) () (iv)
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66. Which one of the following is a characteristic of an anticyclone?

(1) Cloudy weather (2) Strong wind

(3) Descending wind (4) Temperature rise

frfafigs @ & $9 Yiiaswam & fawwar 27

(1) agerges HEd (2) 9 & (3) = sl T (4) TTHH g

67. Which one of the following is not correctly matched?

(1) Rajhara-Chandrapur (2) Noamundi-Singhbhum
(3) Kemmangundi-Bhadravati (4) Gurumahisani-Keonjhar
frafafias # A #9 gafom 7@ 27
1) TR (2) Framqoei-feefh
(3) FHEUE -zt (4) eAfERTA-FTER
68. Which one of the following is an example of metamorphic rock?
(1) Basalt (2) Marble (3} Limestone (4) Sandstone
frfefgs & @ FA FOEE F9EE F IR[EW €7
(1) w2 (2) HTHGR (3) T T (4) TG TR

69. Which one of the following States of India has not been formed on the basis of
linguistic homogeneity?

(1) Odisha (2) Maharashtra
(3) Sikkim (4) Karnataka

(88) 25 (P.T.C.)
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70.

T1.

72.

(88)

uTE % frafafas osat § @ feaer fmto aE aoewar # oum W g BRA T
27

(1) HArfemm (2) HEWy (3) fafem (4) FH

Which one of the following river valley projects is the joint venlure of Andhr
Pradesh and Odisha Governments?

(1) Mayurakshi (2) Nagarjun Sagar

(3] Pochampad (4) Machkund

Fefafas 7@ ol gfEisA 4 @ Fh sy @ sAfsw swn w1 dgw quw
27

(1) wepoef (2) AT W (3) THETUR (4) waFT
Which one of the following is net a part of Homosphere?

(1) Mesosphere (2) Thermosphere

(3) Stratosphere (4} Troposphere

frafafga § & 9 @9wvss = 9 9g@F 27
(1) TIHUEA (2) ATIHVESA (3) HHAATHUEH (4) &faavee

Which one of the following is net correctly matched?

(1) Bhils-Rajasthan (2} Kadars-Kerala

(3] Kukis-Himachal Pradesh (4) Raps-Uttarakhand
P # & #a-a o gfkm T8 27

(2) e TE (2) e

(3) Fh-ferem (4) TSf-3ITrEve

26
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Rudrasagar Development Scheme, approved by Planning Commission in 2012,
was launched in which State?

(1) Assam (2) Manipur (3) Sikkim (4) Tripura
TS A g 2012 H Wigd wwER e dem e ase § amiy o e
(1) s&" (2) Aforge (3) farfem (4) Fgu

Which one of the following names is given to the northern hall of the
Mid-Atlantic Ridge?

(1) Dolfin rise (2) Azores rise

(3) Challenger rise (4) Telegraph Plateau
I~ eENeF FIF & Ial o wm H Prefafes § & frw o /@ s o9 20

(1) 3t 3R (2) HFRE IR (3) ISR 3R (4) oehhms =n

According to population census 2011, which one of the following States of India
has the lowest percentage of urban population to its total population?

(1) Odisha (2) Himachal Pradesh
(3) Jharkhand (4) Rajasthan

STOAT 2011 % AR, WE & (efeifgn ow A @ el e swen w1 e
SEE 8 wiewa e 27

(1) affeem (2) ferrsm wemr (3) ww@vs (4) TsTEd™

Which State of India recorded the negative growth rate of population during
2001-2011 7

(1) Goa (2) Kerala (3} Karnataka (4) Nagaland

27 (P.T.O.]
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77.

78.

79,

(88)

ara % R TS ¥ 2001-2011 H sy A orers wwen gfg wke e
(1) Ta (2) T (3) FATeH (4) TR

Aluminium industry is generally located near the
(1) Source of raw material (2) Market

(3) Source of power (4) Source of labour
weafitem 3diT GG SAfEE S ®

(1) = oa F 8 & e (2) 99F ¥ e

(3) v & &G % Fepe (4) w9 & | & FHepe

Which one of the following ports has been developed on a lagoon?

(1) Kochi (2) Paradwip (3) Mumbai (4) Chennai
freifer vl § @ @ o W Tt fer w27
(1) == (2) T (3) gwis (4) ==

In which one of the following positions, the speed of the Earth’s revolution is the
highest?

(1) Summer Solstice of Northern Hemisphere
(2) Winter Solstice of Northern Hemisphere
(3) Vernal Equinox

{(4) Autumnal Equinox

28
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Fefafgn & 8 frg omen & et & wfomy ) TR gt @ 20
(1) I8 Mo & e A (2) Ift Memd ¥ e A
(3) s faya (4) W fage

Balanced regional development was a major objective of

(1) Third Five-Year Plan (2) Fourth Five-Year Plan
(3) Fifth Five-Year Plan (4) Seventh Five-Year Plan
Aicid Wl foFm qET e o

(1) gda va-adfa s = (2) wqd T=-adffa FsEn
(3) ufadi 99-afiy g & (4) wradt v9-affa I =@

Who among the following is associated with the concept of ‘areal functional
organization’ ?

(1} Walter Christaller (2) Alfred Weber

(3) A. K. Philbric (4) R. O. Buchanan
frefofaa & & @ ‘dffn FEieE e f Gwca & wafg 2
(1) aet faFeen (2) 3ITHE IH

(3) o Fo Torefsrs (4) ¥TRe 3o T

29 (P.T.O.)
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82,

83.

84,

(88)

The planning in which one central authority formulates and executes the plan is
called

(1) Indicative Planning (2) Imperative Planning

(3) Corrective Planning (4) Functional Planning

fu fraee 8 g W Pt o sEEE S e gm oS 2,

(1) Femers fFaise (2) seveRsR At

(3) HugATTs g (4) FEters s

Which one of the following is a Siliceous Qoze?

(1) Red clay (2} Globigerina (3) Pteropod (4) Diatom
fifefaa # 4 sm-o fufom o 3w 27

(1) @ ghea VIRSIEEIE) (3) e (4) e

Given below are two statements. One labelled as Assertion (A) and other labelled

as Reason (R). Select the correct answer from the codes given below -
(A) Economic development leads to environmental degradation.
(R) Conservation implies optimum use of resources.

Codes :
(1) Both {A) and (R) are true and (R) is the correct explanation of (A).

(2) Both {A) and (R} are true but (R) is not the correct explanation of (A).
(3} (A) is true, (R) is false.

(4) (A) is false, (R) is true.

30



85.

86.

(88)

18P/207/21 Set No. 1

2w fe T E) B s (a) 3R @ @ e (R) % e 8 o
LR RGRE IR i
(A) i fome & o wafaoiy o g 2
(R) =erer 1 AR damdl 1 sgeas @ )
FT :
(1) (A) 3 (R) T 7 € awr (A) A ¥ =wem (R), R
\2) (&) 3 R) Al 79 T W (A) B 9 @ (R), 6 2
(3) (A) T R, (R) T R

(4) (A) T9E B, (R) WA R

Which one of the following ocean currents is replaced by El Nino?

(1} Antarctic Drift (2) California Current

(3) Falkland Current (4) Peru Current

frafdfaa & § wA-w wemrda g @ G4 g siefa 6 e 29
(1) UEEHiEF TaTE (2) S aw

(3) FTHeITE U (4) 9% 4w

Which one of the following types of population density is obtained by dividing
total population with total arable area?

(1} Agricultural density (2) Nutritional density

(3} Physiological density (4) Rural density

31 (P.T.0.)
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%ﬁ%ﬂﬁgﬁﬁwﬁmﬁaﬁﬁ%ﬁﬁﬁﬂﬁﬁmﬂﬁtﬁﬁaﬂﬁﬁ
FH-1 FIEE T Y o g 7

(1) HfF o= (2) OT9E A
(3) i A (4) Tl S
87. Karaganda Basin is famous for the mining of which minerai?
(1) Coal (2) Bauxite (3) Iron ore (4) Copper
e afim fre gfe ¥ scam & foe afg 7
(1) T (2) sFETRe (3) WrE T (4) afan

88. The core of the Great Himalayas is made up of

(1) Quaternary rocks (2) Archaen rocks
(3) Dharwar rocks (4) Gondwana rocks
weH femem 1 wis A @

(1) wREH aEl gm (2) anfdaa fer g
(3) umaTg el g (4) WigaMT A g

89. Who amongst the following scholars suggested population potential model for
population distribution?

(1) J. B. Garnier (2} J. 1. Clarke

(3) J. Q. Stewart (4) G. T. Trewartha

freffem & @ fre fgm ¥ SAgen faom &g SHen e & wimm w0 gwmm
7

(1) Sto o MW (2) Slo 3B Feirh

(3) Sto o WAL (4) o Fo foamyd
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91.

92.
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Which one of the following is most essential for foot loose industry?

(i} Raw material (2) Capital

(3) Transport (4) Market

g weEg A & fou fafafea & @ s watfus smawas 27

(1) F=0 = (2) g (3) wrEE (4) s

A gradual change in the trend of population growth occurring over a long period
of time is known as

(1) Demographic dynamics (2) Population explosion

(3) Demographic transition (4) Demographic transformation
uF @l sty d swEen gfy & ww ufeds 6 @i # we @

(1) SHIfHFE TRl (2) SEEn fawwe

(3) SHTRRE THAT (4) SHIfRRT FAT-I0T

Who amongst the following geographers first attempted to divide the world into
natural regions?

(1) Alfred Hettner (2) Carl Sauer

(3) Vidal de la Blache (4) A. J. Herbertson

Prafafge § & frg e 4 fom & wofis oo § fove #6 & w@wm W
faman 7

(1) TeHT B (2) F AR
(3) aTgEw © @ s (4) To Slo BEEHA

33 {P.T.0.)
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93. Who amongst the following gave the dictum : ‘Place - Work — Folk'?
(1) Patrick Geddes (2} Carl Ritter
(3] Elisee Reclus {4) Arthur Geddes

ffafgs § & R oW — @ — @% #1937 far ar?
(1) ¥g= 2= (2) & fz (3) oferft Yo (4) oMol 2W

94, As per 2011 population census, which of the following States of India does not
have an urban agglomeration of one million or above population?

(1) Harvana (2) Odisha
(3} Jammu & Kashmir (4) Jharkhand

2011 SUAT & SFIER, WRA & fEfified g 4 @ 9 4 2w @ @ g @
A sHEE aren g Ty T8 @7

(1) sftamom (2) 3itfem (3) s w9 H (4] @rEve
95. Match List-I with List-1I and select the correct answer from the given codes :
List-I (Forests) List-1I (Trees)
(A} Monsoon Forest {i} Plum and Olive
(B) Equatorial Forest (1) Pine and Spruce
(C) Mediterranean Forest (111) Teak and Sal
(D) Coniferous Forest (iv) Mahogany and Rosewood
Codes :
(A) B} {C) (D (A) (B) (C} (D)

(1) (1) (i) (iv] (i) (2) (v} (i) m) (i)
(3) @) (v} (i) (11) (4) (1) (i) (i) (iv)
(88) 34



96.

97.

(88)

18P/207/21 Set No. 1

-1 H -1 § gAfew A 7o Ry o R @ v e i

g1 (a7) -1 (347)
(A) A () <= @ A
(B) fyaatda (ii) JFCR & TH
(C) ¥weaarTi (ili) T @ A
(D) oremd & (iv) FER W e
T
™ B © (D A B (© (D
(1) @) G @ ) @ v 6@ ) ()

(3) () @) @ (i) 4 0 @) () G
The largest producer of steel in the world (2015) is

(1) United States of America (2) Japan

(3) India (4) China

favg 4 W@ &1 w98 ¥ IAEH (2015) 2

(1) ¥ T i (2) <M

(3) ¥ (4) =

Which one of the following is the largest exporter of L.N.G. ?
(1) Qatar (2) Iran (3) Saudi Arabia (4) Russia
fraffge & @ *19 t@owosle =1 god w1 fafos 27

(1) Fe (2) $H (3) EHG I (4) &4
35
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98.

99,

100.

101.

(88)

Who propounded the concept of human regions?

(1) A. V. Perpillow (2) H. J. Fleure
(3) C. D. Forde (4) R. E. Dickinson
AFE R B s @) R gt R

(1) o o wiuet (2) o o Hedn
(3) do o W (4) Ao 3o fEfFEm
The Masai tribe is traditionally

(1} Pure agrarian (2) Food gatherer
(3) Pastoral cultivator (4) Hunter

qEefiE 4 W AR SHe 2
(1) ¢ F9% (2) EW wOERAl (3) TUEEH FUH  (4) JHIF

The Great Deccan Highway linking Varanasi with Kanyakumari passes through

(1) Raipur (2) Vyayvawada (3) Chennai (4} Hyderabad
FrvE F FHFEAE § S gien 3T SFA FSFl A @
(1) TaqT 4 (2) Toemare @ (3) 9% 9 (4) R @

As per Census of India 2011, which one of the following States has the lowest
percentage-share of child population in rural areas?

(1) Punjab (2) Kerala
(3) Jammu & Kashmir (4) Haryana

M 1 S 2011 % IR, fefifed o 4 4 R oA amiw & § g
SHaErn #1 yiaem-vm e 27

(1) TTE (2) * (3) 57 UH FWiw  (4) whEmn

36
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Which one of the following places was the centre of the Mongol Cultural Realm?

(1) Karakoram (2) Peking (3) Ulan Bator  {4) Yarkand
frefafea & @ 9-m wm ame srEkE Tiavea w1 F oo
(1) HHRHIH (2) ufT (3) I WK (4) AR

Given below are two statements. One labelled as Assertion (A) and other labelled
as Reason (R). Select the correct answer from the codes given below :

(A) A three-tier hierarchy of planning regions has often been recognised.
[R) A three-tier classification is a necessity of regional planning exercise.

Codes :

(1) Both (A) and (R) are true and (R} is the correct explanation of (A).
{2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
31 (A) 1s true, (R) is false.
(4) (A) 1s false, (R) is true.
= @ o fr o B AR (A) oh g W F (R) F w9 F R
2 A Ro m o # @ w@ I gR

(a) Fatem =yt F B-wia wEes & 98 T & s R

(R) Fraiem weoil % wam # Br-wla fieon & aawawma 21

$c

(1) (A) 3 (R) 2 @ & awr (A) @ = =wEn (R), R

(2) (A) 3R (R) 31 ¥ & W (A) H GG =Ew (R), T R
(3) (A) ¥ 2, (R) Ter 2

(4) (A) TS 2, (R) §F |

37 (P.T.0.)
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104.

105.

106.
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When was the post-Independence reorganization of States of India done?
ara & Tedl @ @ Goted e fE mn ot

(1) 1948 (2) 1956 (3) 1961 (4) 1966

Who is the author of the book A Hundred Years of Geography ?

(1) W. Bunge (2) R. Hartshorne
(3) D. Harvey (4) T. W. Freeman
qa@smﬁ#ﬁw%ﬁﬁmwﬁ?

(1) secge i (2) 3o BTN

(3) o 7 (4) fo soego FA

What is the main reason for Japan becoming the leading industrial nation o
world?

(1) It has plenty of mineral resources.

(2) It possess abundant fossil fuel.

(3) It is equipped with high technological capability.

(4) The Industrial Revolution started there.

w9 F feg F ool offefiss TR R W geE FE0 A 2

(1) 0% 7" T SR FEEE E O (2) 6 TE A O H aged R
(3) IWF TE I TEA GHAT 2 (4) FE SitEfie wifd & HY g2l o

38
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Wzdch one of the following ranges is associated with Mesozoic volcanocity in
India?

(1) Rajmahal Hills (2) Nilgiri

{3) Pir Panjal (4) Aravall

wiw § fFefafes & @ -0 aof e soemd e @ geg 27
(1) TeivEe veIreat (2) =i

(3) TR g=e (4) e

Who amongst the following geographers first used the term ‘Pragmatic
Possibilism’?

(1) C. Ritter (2) G. Taylor (3) J. Brunches (4) G. Tatham
frefefaa @ & fem piean 3 wdum ‘sEefs aoEare 9 s S e
(1) dto = (2) sfto e (3) So {u (4) Sfte Zem

Under the National Population Policy of India, 2000, by which year the
population stagnation goal has to be attained?

wid it e sEEn fift 2000 % e e fErm w1 Fe g 9 9% uw
FAT 27

(1) 2055 (2) 2060 (3) 2065 (4) 2070

Which is the correct sequence of the top States of India, in descending order, in
terms of proven coal reserves?

(1) Odisha, Chattisgarh, Jharkhand, Madhya Pradesh
(2] Chhattisgarh, Odisha, Madhya Pradesh, Jharkhand
(3} Jharkhand, Odisha, Chattisgarh, Madhya Pradesh
(4) Madhya Pradesh, Chhattisgarh, Jharkhand, Odisha

39 (P.T.O.}
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ffafes wqd amet 4 4 34 R memmm f g 3@ 27
(2) et um

(1) ATeTer™ =1

(3) 2femr fe wREM U

List-I (State)
(A) Gujarat
(B) Maharashtra
(C) Uttar Pradesh
(D) Rajasthan
Codes :
@A) (B (€
(1) (1) (i1} (111)
(3) (i) (iv) (i)

(D)
(iv)
(1)

(4) STEENn 4

Match List-I with List-II and select the correct answer from the given codes :

(2)
(4)

List=II {Atomic Power Plant)
(i Rawatbhata
(iij Narora
(i1} Kakrapara

(iv) Tarapur

A B (€ (D)
iv) () () (1)
(i) () (v ()

g1 ® g-0 & gafm A e e owoge § v s gh

?ﬁ_.’ :

(1)
(3)

g1 (759)
(A) T
(B) HEIZ
(C) IW W

(D) TSTETH

@ B (©
(@ G ()
(i)  (v) (i)

(D)
(iv)

(1)

(2)
(4)

qAi-11 (T I 7)
(i) TR
(ii) T
(i) SFERUTAT
(iv) TRIYT
(A) B) (€ (D)

(v G 6@
G G @ ()

(P.T.O.}
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111.

112.

113.

114,
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m%m%ﬁ@ﬁ,wiﬂﬁnﬁmmmﬁﬁww%?
(1) m,m,m,mm
(2) oemTe, JAifEm, weANew, WEES
(3) oREve, e, gHETE, TEANeN
(@4} T, S, wave, e

According to G. T. Trewartha, which one of the following codes denotes the
climate of the Ganga Plain?

o Ffo frami ¥ mEm, Fafafes # @ #F-w g2 TN F H7E A FeEy
ZraT 27

(1) CA'w (2) CB'w (3) Cau (4) C wg

What is the term used to denote the flat topped terraces made of fine silt in the
Kashmir Valley?

(1) Doon (2) Karewa (3) Duar {4) Char

Foin 99 % neA e ¥ Bffa e adege anml & RREE 1 F g sh-m
7z g R s 27

(1) & (2) F (3) g (4) =

Which one of the following rock systems is the main source of coal in India?
(1) Gondwana (2) Vindhyan (3) Tertiary (4} Cuddapah
urd § Fiae w1 g d fefafes § 8 wE-a 9 99 27

(1) Tizam (2) Frem (3) ZEwr (4) Fzom

Which one of the following currents does not belong to Indian Ocean?
(1) Agulhas Current (2) Mozambique Current

(3) South Indian Ocean Current (4) Benguela Current
40
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116.
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Which one of the following regions is considered as the place of beginning

vegeculture in the world?
(1) North Africa (2) Central Asia

(3) South-East Asia (4) Central America

frefafias § @ F-w w2u fava § RuFl F IgW ey JE a2 7

(1) Iott AHIH (2) me Ui
(3) aféor-gd ofimn (4) AEA AT

Which one of the following rock formations is the richest in plant fossils?
(1) Gondwana (2) Shiwalik (3) Vindhyan (4) Cuddapah
frfafas sremmel & @ *1 uey Siawdl 8 gdifes ama 27

(1) Mgam (2) fafees (3) femem (4) Feom

Which one of the following is known as the accelerated stage in -
Urbanization Curve?

(1) First (2) Second (3) Third (4) Fourth

frefafas 8 & froet Frien 9% ° @fA st Fel S 27

(1) 5| (2) T (3) e (4) =qd
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Given below are two statements. One labelled as Assertion (A) and other labelled
as Reason (R). Select the correct answer from the codes given below :

(A) Arunachal Pradesh has vast potential of hydropower production.

(R) Arunachal Pradesh receives heavy rainfall.

Codes :

(I) Both (A) and (R} are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is truc, (R) is false.

(4) (A) is false, (R) is true.

ﬁﬁmﬁﬂmﬁlﬁaﬁHﬁmﬁm}aﬂrgﬂiaﬁwm;%mﬁﬁmw
(A) *RIITEE Youl § el IAeA F ouR mmer 2
(R) 3¥eoTael o1 | 9l a§i gt 2y

Tl :

(1) (&) 3 (R) AT 7 & 7 (A) A WA =EM (R), 2

(2) (A) 3R (R) T 79 ® wg (A) i = e (R), 796 2
(3) (A) T 2, (R) T&a B

(4) (A) T R, (R) 9 2

Which one of the following industrial regions of India has the predominance of
metal industries?
(1) Ahmedabad-Vadodara (2) Kolkata-Hooghly

(3] Chotanagpur (4) Mumbai-Pune
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urd ¥ fefafaa § | fe oheifie ww § g s & wumar o il 27
(1) SEHEEIE-TEIET (2) FreHTI-e!
(3) BrEHFYR (4) ge-go
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3 U F A SR W A AW I & A v W
Fad el w1 aa-ge 198 & fad)

u - e & 30 Tl % e A Bw W T owemy B oo 9% WSR2 % FE yn @ wy
221 F# 21 ufea 2T T AW 9 R A A Fa-fies IF GEIn qeEy A aEd
1EE TR oW A '

™A W 8 9E9-T9 & i, fAw m o FE o el FOE W 4 3 AT

FeTHeATe I Hem A fEm owm 2 g o7 A @E wtr g gl faga &1 gmm st ovmosmo T~
A TE T AEW FHAT toTRHATe INT-TF FT # goaiaa fam ara

AT fateal wan oYy w A EE @ 97 @ fadita e ow B
ATOMHo Ao ToR-TF & oW YE U1 U7 F 301 HIHWIF Fuifed wam o ford Ao 1t frar g+

w1 T E | A -Fel HAVEF B A UvE-uiTAE 1 HEiE U4 % 1T I A4 67 & 3o
It T e

AeMoSHe FE-T4 W OSHFAF Hen. weE-yfie dmn o3 #z wen (afz w13 71 A e
1faF W sHEEiE Ho 3 WoTHowMRe 3W-93 Ho F1 ulafeai § IEmE A e

Fei ufigal 5 R W EdT Fu Bem g omim Aw TR semar me ovs st A
FT OV YT S

A -TEF A UEE T % A6 A%60E T @ w3 uetew uvw & daftaw v & fed s
HIoTHoHRe IM-0F & Tl dfem & ama 24 T g7 & siolGexTe 77707 & yaw b
97 fed wA fEv0 & HYEW 99 # mer & §

TE G R 3R 8 Fae e 6 39 w0 ome 340 us 8 shis A F WM OFE T oAU
EE A Sl B L e B TR O o G O B e

AN 7 5 0% aw w2 AT I FEe 98 @ WA 2 Afz s R aee e T TET 24T WEA
£ M awtad 9 F o fowowd g4 g e Bz 3 o - w3t osmm
5 FE F e SA-IREE F jETn F oavR A 78 qun sl e w s w

e F1 amiE F A Sl d9 devie AT - e Fa /T § w4 faE 3 Hin 2 werd
S EY TE-ufEE aur womHewEe 3-Ta F1 ufad & W HEd 3

TiE BHH B O/ Teet wfen o 7 oW WM A1 amala e

afz #13 gl Hen |# sqfaa wat =1 v w2, @ A favafeem am fulfa 2o aef
FOT R |




